Virginia High School League

Scholastic Bowl, 2003-04 season

District Competition, Match #3


These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Chris Moretti, Susan Gallaher, Adam Fine and Gary Bugg are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period, 15 toss-ups

1.  For 10 points, name either of the two counties on the Virginia part of the Eastern Shore.

ANSWER: _Accomac_ or _Northampton_

2.  For 10 points, atoms of the same element that have the same atomic number and differ only in the number of neutrons are called what?

ANSWER: _isotopes_

3.  According to the mineral hardness scale, Diamond is 10, quartz is 7 and fluorite is 4. For 10 points, what is the specific name of this hardness scale? 

ANSWER: _Mohs_ 

4.  What animal does Santiago remember seeing on the beaches in The Old Man and the Sea?

ANSWER: _the lions_ 

5.  The Colossus of Rhodes was dedicated to this god, as he became the chief deity of the island after Zeus divided the earth among the Olympians.  The father of both the sorceress Circe (SEER-see) and Phaethon (FAY-uh-thun), the latter was killed after unsuccessfully riding a golden chariot.  For ten points, what brother of Eos and Selene was the Greek god of the Sun before Apollo?

ANSWER:  _Helios_

6.  He defeated the English at Stirling in 1297, lost to them at Falkirk the next year, and was then captured by the English in 1305, and was given a traitor's execution after a show trial. For 10 points, who was this Scottish patriot whose life was given much cinematic license in the movie Braveheart?

ANSWER: William _Wallace_

7.  For 10 points, what is a modification called that makes a living thing better suited to a particular way of life?

ANSWER: _adaptation_

8.  In the sentence "I do not feel well", what type of verb is the word feel?

ANSWER: _linking or state of being_ verb

9.  Disney originally rejected it in script form before seeing the storyboards with the adorable illustration of the protagonist. It inspired Neil Diamond's song "Turn on Your Heartlight"? For 10 points, what was this movie that made Reese's Pieces and Drew Barrymore popular?

ANSWER: _"E.T. - THE EXTRATERRESTRIAL"_ (accept "E.T.")

10.  THIS IS A COMPUTATION QUESTION. A is the set of positive integers less than 5.  B is the set of positive odd integers less than 13.  C is the set of perfect squares less than 40.  For 10 points, what is the result of the intersection of B and C then unioned with A?

ANSWER: _{1,2,3,4,9}_

11.  This novel, which won the National Book Award in 1953, follows a young black man's struggles as he moves from a southern town to New York. For 10 points, name this Ralph Ellison work.

ANSWER: _Invisible Man_ (NOT THE Invisible Man -- by H.G.  Wells)

12.  His good looks and the money he made as a trial lawyer enabled him to beat Lauch Faircloth and win a U.S. Senate seat. For 10 points, who is this Senator that is finding it harder to win support for his Presidential bid outside of North Carolina?

ANSWER: John _Edwards_

13.  Igneous rocks, which form from magma or lava, are generally classified by their texture. This texture is greatly influenced by the mineral content and the rate at which, for 10 points, the magma or lava does what? 

ANSWER: _cools or solidifies_ 

14.  It was dedicated on January 15, 1943, and built from 680,000 tons of sand and gravel from the Potomac River. Despite its 17.5 miles of corridors, it takes a maximum of seven minutes to walk between any two points in the building. For 10 points, what is this building, the headquarters of the U.S. Department of Defense?

ANSWER: the _Pentagon_

15.  Which of Shakespeare's plays begins with the line "Now is the winter of our discontent"?

ANSWER: King _Richard III_

Second period, 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.  THIS IS A COMPUTATION QUESTION. What is 36/11 expressed as a decimal truncated after one length of the repeating portion?

ANSWER: _3.27_

1B.  In Dickens' A Christmas Carol, what is Tiny Tim's family name?

ANSWER: _Cratchit_

2A.   In Stevenson's Treasure Island, who is the first mate who gets the black spot from Blind Pew?

ANSWER:  _Billy Bones_ (need both names)  

2B.  THIS IS A COMPUTATION QUESTION. What is the sum of the floor of 3.8 and the floor of 4.2?

ANSWER: _7_

3A.  In both Buddhism and Hinduism, what term refers to the long cycle of birth, death, and rebirth, which can be broken by performing selfless and obedient acts?

ANSWER:  _samsara_

3B.  A man goes to a doctor with a medical complaint. The doctor tells the patient that he has a varicose vein in the vicinity of his anus. By what common term do we know this malady?

ANSWER: _hemorrhoids_

4A.  What name was given to the substance 19th century physicists thought carried electromagnetic waves?

ANSWER: luminiferous _ether_

4B.  Who was President during the "Era of Good Feelings"?

ANSWER: James _Monroe_

5A.  What Roman Emperor changed the state religion to Christianity?

ANSWER: _Constantine_ the Great (Constantinus)

5B.  What German composed the Les Adieux (LAY ah-DOO), Pathetique (pah-theh-TEEK), Appassionata, and Moonlight Sonatas?

ANSWER:  Ludwig van _Beethoven_

6A.  The definition of species contains 2 parts. One is that the organisms of a species must be able to mate. What is the other part of the definition?

ANSWER: _The offspring (children) must be fertile_

6B.  THIS IS A COMPUTATION QUESTION. What is the area of an isosceles triangle with a base of 6 and an altitude of 5?

ANSWER: _15_

7A.  In a recent issue of the quarterly Foreign Affairs, what former Secretary of State under Bill Clinton slammed President Bush's decision to go to war against Iraq? 

ANSWER: Madeline _Albright_

7B.  According to legend, the Chrysanthemum Throne was first occupied in 660 BC. The Chrysanthemum Throne is associated with what country?

ANSWER: _Japan_ 

8A.  THIS IS A COMPUTATION QUESTION. Negative 3.1 is less than x plus two which in turn is less than 4.1 {-3.1 < x+2 < 4.1}. Zero is less than x minus four which in turn is less than 6 {0 < x-4 < 6}. By how much bigger is the first interval?

ANSWER: _1.2_ (7.2 versus 6)

8B.  While in MS Word, you decide to undo something you typed by using Control-Z. However, you later decide to put back what you originally typed. What keystroke combination allows you to "redo" what you had undone?

ANSWER: _control-Y_

9A.  A septet has how many performers?

ANSWER:  _7_

9B.  Who resigned as coach of the Philadelphia 76ers in order to fill the Detroit Pistons job that opened when the team fired Rick Carlisle after two straight 50-win seasons?

ANSWER: Larry _Brown_

10A.  What is the name of the Parliament of Israel?

ANSWER: _Knesset_

10B.  Who wrote the poetry collection "Old Possum's Book of Practical Cats," on which the long-running Broadway musical was based?

ANSWER: T.S. _Eliot_

Third period, 15 toss-ups

1.  Oysters and ground rhinoceros horn are just two items thought by some to arouse sexual desire. For 10 points, what is the term for such items, which gets its name from the Greek goddess of love?

ANSWER: _aphrodisiac_ 

2.  He was born into the warrior Indian caste around 599 BCE, and he followed the teachings of the spiritual guide Parshva, the twenty-third Tirthankara.  Also known as Vardhamana, he lived as an ascetic for twelve years before achieving enlightenment and becoming a conqueror.  For ten points, who thus became the founder of Jainism?

ANSWER:  _Mahavira_ 

3.  A government official awards a $10 million contract to a contracting firm. The firm then turns around and secretly gives $500,000 to the official, who then gives $300,000 to his cronies. For 10 points, what type of illegal transaction has just taken place?

ANSWER: _kickback_

4.  For 10 points, what is the name of the common proteins that speed up chemical reactions in a cell, an example of which is amylase?

ANSWER: _enzymes_

5.  THIS IS A COMPUTATION QUESTION. A car-rental agency charges $20 per day plus 14 cents per mile.  If the car was rented for 2 days at a charge of $61.42, for 10 points, how many miles were driven?

ANSWER: _153_

6.  A weatherman studies all of the available data, and gives his best shot as to what the weather will be. His prediction about the weather is not a theory. For 10 points, what is a better word for his predictions?

ANSWER: _hypothesis_

7.  In 1974 she published a volume of photographs of the Nuba tribe in southern Sudan.  Her first films, "Blue Light" and "Victory of Faith," so impressed Hitler that he made her the Nazi Party's foremost film director.  For ten points, what woman, who was responsible for "Triumph of the Will" and a four-hour feature about the Berlin Olympics, died at age 101 in September 2003?

ANSWER:  Leni _Riefenstahl_

8.  Leopold Bloom is the central character in which James Joyce novel?

ANSWER: _Ulysses_

9.  For 10 points, according to the Constitution, what fraction of slaves living in a state would be numbered in the Census?

ANSWER: _three-fifths_ or _60%_

10.  In his native country, he is known as Showa-tenno. On January 1, 1946, he was forced to renounce his divinity. For 10 points, who was this 124th Emperor of Japan, who reigned during World War II?

ANSWER: _Hirohito_ 

11.  He played his last game in an exhibition against the Kansas City Blues.  On May 2, 1939 he walked to home plate and handed in a lineup with Babe Dahlgren's name penciled in at first base.  On Independence Day of that same year, he declared to a sellout crowd, "Today I consider myself the luckiest man on the face of the earth, ... I might have had a bad break, but I have an awful lot to live for."  For 10 points, who is this Yankee legend that lent his name to Amyotrophic Lateral Sclerosis?

ANSWER: Lou _Gehrig_

12.  For 10 points, who was the Prime Minister of the Palestinian Authority before he resigned after a confrontation with Palestinian Authority President Yassir Arafat?

ANSWER: Mahmoud _Abbas_ or _Abu Mazen_

13.  It is the tendency of objects to obey Newton's First Law. For 10 points, what is this tendency of moving objects to remain in motion and of stationary objects to remain stationary?

ANSWER: _inertia_

14. Panini wrote a grammar for this language around 300 BC. Its alphabet, known as the Devanagari (day-VAH-nah-gah-ree) is still used today in Bengali and Hindi. For 10 points, what is this language of ancient India?

ANSWER: _Sanskrit_

15.  Indonesia, Malaysia and Brunei all occupy, for 10 points, parts of what island?

ANSWER: _Borneo_

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
1.  THIS IS A COMPUTATION QUESTION. For 10 points, what is eleven pi thirds radians expressed in degrees?

ANSWER: _660 DEGREES_

2.  According to Ray Bradbury, at what temperature does paper burn?

ANSWER: _451 degrees Fahrenheit_ or _Fahrenheit 451_

3.  Innocent Killers, In the Shadow of Man and My Friends the Wild Chimpanzees are among the books written by, for 10 points, what famous anthropologist?

ANSWER: Jane _Goodall_

4.  George Wallace, Hubert Humphrey and Richard Nixon were the main candidates in the Presidential election of, for 10 points, what year?

ANSWER: _1968_ 

5.  His first wife, a singer named Lina, was arrested on charges of being a spy, and spent years at a Siberian forced labor camp.  In his early career he wrote the Scythian Suite and an opera based on Dostoyevsky's The Gambler, and strangely moved from Europe to the Soviet Union in 1936.  For ten points, in 1948 Stalin condemned which composer of The Love for Three Oranges as a formalist?

ANSWER:  Sergey _Prokofiev_

All questions © 2003 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

